
___𝐻ଶ + ___𝐶𝑙ଶ → ___𝐻𝐶𝑙

2 −  𝐻 − 1 
2 − 𝐶𝑙 − 1

Steps: 
1) Write : 
a) Reactants on Left (+)
b) Blanks in front ___
c) Arrow in between →
d) Products on Right (+)

2) List
a) Elements below arrow 
b) Dashes on both sides.

3) Write number of atoms/element
a) On the left & right side of the dash.

4) Write 
a) Numbers in blanks
b) Adjust numbers on both sides of the dash.

5) Repeat step 4 until equal # of atoms/element on both sides.

___𝐴𝑙 + ___𝑃 → ___𝐴𝑙𝑃

1 − 𝐴𝑙 − 1 
1 − 𝑃 − 1

___𝐻ଶ + ___𝐶𝑙ଶ → ___𝐻𝐶𝑙

2 −  𝐻 − 1  2
2 − 𝐶𝑙 − 1   2

2

___𝑁ଶ + ___𝐼ଶ → ___𝑁𝐼ଷ

___𝑁ଶ + 3  𝐼ଶ → 2  𝑁𝐼ଷ

2 − 𝑁 − 1 
2 − 𝐼 − 3 

2 − 𝑁 − 1   2
2 − 𝐼 − 3    6 

___𝑁ଶ + ___𝐼ଶ → 2  𝑁𝐼ଷ    

2 − 𝑁 − 1   2
 2 − 𝐼 − 3    6 6 

___

___ ___

___𝐹𝑒 + ___𝑂ଶ → ___𝐹𝑒𝑂

1 − 𝐹𝑒 − 1 
2 −  𝑂 − 1

___𝐹𝑒 + ___𝑂ଶ → ___𝐹𝑒𝑂

1 − 𝐹𝑒 − 1 
2 −  𝑂 − 1

2

___𝐹𝑒 + ___𝑂ଶ → ___𝐹𝑒𝑂

1 − 𝐹𝑒 − 1 
2 −  𝑂 − 1

2

2
2

2

2 2
2

𝐶𝑜𝑛𝑠𝑒𝑟𝑣𝑎𝑡𝑖𝑜𝑛 𝑜𝑓 𝑀𝑎𝑠𝑠:  𝑀𝑎𝑠𝑠 𝑐𝑎𝑛 𝑛𝑒𝑖𝑡ℎ𝑒𝑟 𝑏𝑒 𝑐𝑟𝑒𝑎𝑡𝑒𝑑 𝑛𝑜𝑟 𝑑𝑒𝑠𝑡𝑟𝑜𝑦𝑒𝑑.

𝐻ଶ + 𝐶𝑙ଶ → 2𝐻𝐶𝑙

𝑃𝑟𝑜𝑑𝑢𝑐𝑡𝑠 𝑀𝑎𝑠𝑠𝑅𝑒𝑎𝑐𝑡𝑎𝑛𝑡𝑠 𝑀𝑎𝑠𝑠

2 𝐻                            2 𝑔
2 𝐶𝑙                        71 𝑔
𝑇𝑜𝑡𝑎𝑙 𝑀𝑎𝑠𝑠 =    73 𝑔

2 𝐻                            2 𝑔
2 𝐶𝑙                        71 𝑔
𝑇𝑜𝑡𝑎𝑙 𝑀𝑎𝑠𝑠 =    73 𝑔

General Rules: 
1) Complicated 
compounds first

2) Single/diatomic 
elements last. 

3) Sometimes we need 
to use lowest common 
multiple (LCM) 
"concept". 

4) Double Everything*

5) Watch out for even 
and odd numbers 

LCM

LCM

___𝐶ଶ𝐻଺ + ___𝑂ଶ → ___𝐶𝑂ଶ + ___𝐻ଶ𝑂

___𝐶ଶ𝐻଺ + ___𝑂ଶ → ___𝐶𝑂ଶ + ___𝐻ଶ𝑂

2 −  𝐶 − 1
6 − 𝐻 − 2
2 − 𝑂 − 3

3

2 −  𝐶 − 4
6 − 𝐻 − 12
2 − 𝑂 − 14

2 −  𝐶 − 1
6 − 𝐻 − 6
2 − 𝑂 − 5

___𝐶ଶ𝐻଺ + ___𝑂ଶ → ___𝐶𝑂ଶ + ___𝐻ଶ𝑂

2 −  𝐶 − 2
6 − 𝐻 − 6
2 − 𝑂 − 7

2 3

___𝐶ଶ𝐻଺ + ___𝑂ଶ → ___𝐶𝑂ଶ + ___𝐻ଶ𝑂4 6

___𝐶ଶ𝐻଺ + ___𝑂ଶ → ___𝐶𝑂ଶ + ___𝐻ଶ𝑂

  2 −  𝐶 − 4
12 − 𝐻 − 12
  7 − 𝑂 − 14

4 62 7

Don't erase, cross 
out your numbersLCM

Double 
Everything

𝑅𝑒𝑎𝑐𝑡𝑎𝑛𝑡𝑠 → 𝑃𝑟𝑜𝑑𝑢𝑐𝑡𝑠
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